The graph of y=tan6 The graphs of Tanx is zero whenever
Sinx is zero.

Tanx and Sinx

When Cos6=0
What are the x-intercepts? () x, 27, 37, 47, ...
When Sin6 = 0

What is the period of Tang? the graph shows four cycles from
0 to 4n therefore each cycle is only

n wide. Therefore, the

Period =«
The graphs of Tang has a VA whenever _ _ . Sin(bx)
Tanx and Cosx Cosb is zero. y = aTan(bx) = a Cos(bx)
v
a: If a<0 there is an x-axis reflection

b: The period of Tanbx = ib

- _x
period

b =# cycles from O ton

VA occur wherever Cos(bx)=0

x-int occur wherever Sin(bx)=0
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The Tangent function is graphed in the window 0 to 2.

1. What is the period?
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2. What is the equation
of this Tangent Function?
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y = Tan(26)

What is the period? Find three VA and three x-int.
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The Tangent function is graphed in the window 0 to 2.

v , 1. What is the period?

2. What is the equation
of this Tangent Function?
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What is the period?

y =lan-=+
Find three VA and three x-int.
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y =Tan6x
What is the period? Find three VA and three x-int.
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Write the equation of this Tangent Function
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Write the equation of this Tangent Function
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Write the equation of this Tangent Function
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